KCC Co., Ltd.

E Aol A A H D () KP35H series

jrn §
o

AR AR ARIL (X205 £8)

KP35H series

= =
= BA7|E
o SEN: 20| ~E|]
o 24 BZ L2
o ALER3 3.5MPa 2E/mac

A=
KP3SH - - s (00 )-(v J-(er3)- (L)
ONEIE ® Moas
KP35H A MRy Al 215 HEAEES) A
KP35HL HE MR delH(2EA2(2| 221Y) I 1tHHEXRQIE
v 24 H2Z0IE
@ 2 FAIA] @A
B B2y B | ol=E ZaxE © 2=2912 %
LB ZEY CA 14 S| AY =84 =24 243 =24
FA | 2cCz Zaid 72 D-C72K H7AT D-H7ATK
73 D-C73K H7A2 D-H7A2K
@ E=H 76 D-C76K H7B D-H7BK
THEA| 20 25 32 40 c80 D-C80K
L3 @20 @25 @32 @40 x A912) £arsiof] gLt
s AN I8 [10]-10, 19 PAGES 23 3HAIAIL.
Al2|HaH =& =
@EEHEE @ 282913 42
S EE 2|5 2%
920 s 174
025 50, 100, 150, 200, 250, LT N7H (N:3,4,5...)
032 300, 400, 500, 600, 700, 800 # 292| BEHO| HBELICH
940
s FEAAMYE REMEE WY HA2 [1]-140PAGES H1310) FAAI2,

106

www.kccpr.com



KEC| KSE $o, Hd. KP35H series

0

o Qe MY (Y20)5 £2)

o

o
AFQE
SELHE (m) ?20 @25 ?32 @40
NEEE RUYER
2IUY 50.9kgf/cii (5.0MPa) AJP
2|TArE S 35.7kgf/cii (3.5MPa)
KGUA
Z|AHALE ™ 3kgf/cri (0.3MPa)
2 -10~80C(LEAL|Z| 912)
Fe2E Y AERARE 10~600(QEAS|2| B3 ACP
AIRI|AE &0 8~300mm/sec
ACD
24 gig
LEARZ2E KS23 ACS2
#HYZUo| St ~250°T: *1.9 251~800°": *1.4
ACS3
T2 24 712Y, FEY, RES SURY, o|ES SUAY, 14 S2HAF
 ME STFE ACS2 Al2| 22t SUSHA AFZRILICE (T, @402 LHARR|4 M16x1.5) ACS4
2| = = o gam
ZE2 R PA U ELF
ACS5
- - s Zp5 =Y FHc= 14F
T A2 B 2 ZEY 23Ry 223y ECLES: ACR
H2| LEAL ®(17H) ®(27t) o (17H) o (171) -
B2 2C MO HE
S 4 ° ° ° ° ° ACM
Saju|2g ¢ - - - - -
AHEROIE [ ] [ ]
- 1442 ° ° ° AcL
A HER0IE ° ° ° ° °
% Z1) 24 42 ZOIE0|E H, AdRi0] 52 ZotgLCh ACK
A= o =
FHEX A g+
KLC
#2202 2 T | 2L (m) L% (2|4 22 £24))
Y FE 1227H) LB20 LB25 LB32 LB40 ZE 7)), MRIHE 17§ KLCS
E42] 174 FA/FB20 FA/FB25 FA/FB32 FA/FB40 Zaz; 170, A2HE 1)
14k Z2fjbjA 174 CA20 CA25 CA32 CA40 14k Sj|H|2 174 AF, ADF
AMCt=2 IT B AFM,
(L D:I'L = e ADFM
T — EdA
e ] 220 025 932 40 ANG
T4 HERUE 120 125 140 12-40
24 HBR0IE Y20 Y25 Y40 Y2-20
[@Xe]3 o S
7o AsFretel Hed
et =y AR (]
W/ORER °
owase °
=222 AsR X
QLo AE|2A 2ER X

www.kccpr.com - 107



KCC Co., Ltd.

AOAAES (F)

KP35H series

ARy 22d (R0 &E)

ol2zm
THRlIN
AE Y3 MPa
FELHZ () Z2E2|E () s a5 Q2 (i)
1 1.5 2 25 3 35
ouT 314 314 471 628 785 942 1099
20 10 IN 235 235 352 470 587 705 822
- . ouT 490 490 735 980 1225 1470 1715
IN 377 377 565 754 942 1131 1319
3 . ouT 804 804 1206 1608 2010 2412 2814
IN 603 603 904 1206 1507 1809 2110
ouT 1256 1256 1884 2512 3140 3768 4396
40 18 IN 1002 1002 1503 2004 2505 3006 3507
x O[22 (N) = €2 (MPa) x =& A (i)
SR
che: kof
£504 (mm) Sk
@20 25 ?32 @40
zEY 0.1454 | 0.238 0.5 0.82
Jzza nEY 0228 | 0316 | 0.88 1.36
A28 0.198 | 0.290 | 0.69 1.03
14t Sl AF 0.134 | 0208 | 0.64 0.77
508¥Y St Y 0.064 | 0.080 | 0.12 0.16
14 HER0UE 0.056 | 0.056 | 0.166 | 0.226
2437 | 2 HSXQE (TR2) | 0074 | 0072 | 0220 | 0.296
2CEHE 0.002 | 0.008 | 0.016 | 0.032

0il) KP35H LB32-5100

0.88+0.12/50 X 100 =1.18kg

J|2EY 0.88(FEREP32) / 371531 0.12 /50 / HEHHEE: 100mm

¥ - 108

www.kccpr.com



KEC| KSE $o, Hd. KP35H series

2 QY MY (R0)5 £L)

2T
AJP
KGUA
ACP
ACD
ACS2
ACS3
ACS4
ACS5
ACR
ACM
ACL
M 1T
BEE Z|AE I 2|AE ACX
H._'l—s— -‘?—%%‘ Z|'|7é| '/I\'F_Iot H|_'|§ _t?l_é:_%q 1H7é| 'I"E"ELH%’ KLC
1 TUBE A6063 1 @20 @25 @32 @40
3 TUBE O-RING NBR 1B-S18 | 1B-S22.4 | 1B-S29 | 1B-G35
2 HEAD COVER A2024 | 1 KLCS
DU BUSH SPCC DUB1010|DUB1210|DUB1610|DUB2010
6 ROD SM45C 1
11 DUST SEAL NBR SER-10A | SER-12 LBH-16 | LBH-20
8 ROD COVER A2024 | 1 AF. ADF
12 ROD PACKING NBR NMY-10A| NMY-12 | USH-16 | USH-20 '
17 PISTON A2024 1 —
16 ROD O-RING NBR 1A-S7 1A-S7 1A-S9 1A-S14 AFM
18 MAGNET NBR 1 .
19 WEARING POLYKETON | 20x17x2 | 25x22x2 | 32x29x3 | 40x37x3 ADFM
28 COVER NUT SS400 1 -
20 |PISTON PACKING NBR HSD-20 | HSD-25 | HSD-32 | HSD-40
ANG

www.kccpr.com - 109



KCC Co., Ltd.

KP35H series

A Ol A A EFZ(F)
o|&: O OF Al o= = =
"L‘I%i 21_[_“:}- Ean_lEI (E—r—DlE —rrE)
=15 A ==
nglleE_EIoo:l (B)
VB VB
Rc(PT) Rc(PT)
PA PB sw
2-M ALY Re
KK i) T ‘ T
\ i 1 L} i i
‘ % ®
of LTI X+ ————(&H 1 3
Ay
[RELIALZO]|
A B H w e 3
T L+STROKE H
TL+STROKE
CHlimm
S84 FELAHEO| A B @D 0]3 DEA H KK L M PA PB Rc(PT)
220 15 18 5 10 30 23 16 M8xP1.25 81 M22xP1.5 12 1/8
@25 20 22 55 12 32 25 16 M10xP1.25 81 M24xP1.5 12 1/8
?32 21 24 7.5 16 40 31 19 M14xP1.5 87 M30xP1.5 12 1/8
@40 21 24 7.5 20 48 34 21 M16xP1.5 108 M33xP2.0 14 11 1/4
THelimm
EQy T TL VA VB W WC SW
?20 41 138 26 13 19 15 26
@25 46 143 32 13 19 15 28
?32 53 159 38 13 19 15 36
@40 54 183 41 19 24 21 44
=15 A =
Az E-EEY (LB)
T Rc(PT)
|7 & LtArZIO| H PA
5
W
VA
X L+STROKE X
LX
Y LS+STROKE Y
LZ
TL+STROKE
TH2imm
SELE FELAHEO| A B @D H KK L LD LH LS LT LX
220 15 18 5 10 16 M8xP1.25 81 7 25 121 6.5 40
@25 20 22 55 12 16 M10xP1.25 81 7 28 121 6.5 40
?32 21 24 7.5 16 19 M14xP1.5 87 7 30 133 45
240 21 24 7.5 20 21 M16xP1.5 108 9 35 158 7 55
Ch2limm
ESLfE Lz M PA PB Rc(PT) T TL VA VB W WC X Y
220 55 M22xP1.5 12 1/8 41 151 26 13 19 15 20 9
@25 55 M24xP1.5 12 1/8 46 156 32 13 19 15 20 9
@32 60 M30xP1.5 12 1/8 53 172 38 13 19 15 23 9
@40 75 M33xP20. 14 11 1/4 54 198 41 19 24 21 25 11

www.kccpr.com



KEC| KSE $o, Hd. KP35H series

0

o Qe MY (Y20)5 £2)

4-9FD oA Rc(PT) Rc(PT) o8
) N 2-M
KQ} <« T T3 [ AJP
1@\ Tﬁ ‘ T o
E T \ T s Jrfi' HANE T]JMT T = KGUA
& & .
\\ ) | ACP
FX pera FT|_ve VB
FZ A |8 H w We 3 ACD
T L+STROKE H
TL+STROKE ACSH
Celimm
SHUZE | REUAZO | A B oD | oEA | W | wc H KK L M PA ACS3
020 15 18 5 10 23 19 15 16 M8xP1.25 81 M22xP1.5 12
@25 20 22 5.5 12 25 19 15 16 M10xP1.25 81 M24xP1.5 12 ACSA
032 21 24 75 16 31 19 15 19 M14xP1.5 87 M30xP1.5 12
@40 21 24 7.5 20 34 24 21 21 M16xP1.5 108 M33xP2.0 14 ACSS
CHe:mm ACR
g8 PB Re(PT) T TL VB @FD Y FY FT FX FZ
20 8 1/8 41 138 13 7 38 21 6 51 68 ACM
@25 8 1/8 46 143 13 7 44 27 9 53 70
?32 8 1/8 53 159 13 7 50 33 9 55 72 AL
@40 11 1/4 54 183 19 9 60 36 9 66 84
ACX
Y| -3 ES SUAIH (FB)
KLC
Rc(PT) Rc(PT) 4-0FD B —
2M PA ‘\JJ’L KLCS
KK —
j‘ T T .
. — i ! % ! AF, ADF
o I__ |1 I I I A 44 - I VS [ S 11
3 L1 ) 7 E AFM,
— ADFM
ROl 3 VB vB ANG
A B H W WC _[FT EX
T L+STROKE H 7
TL+STROKE
Celimm
SBUE | REUAIZO] A B @D BEA W WC H KK L M PA
220 15 18 5 10 23 19 15 16 M8xP1.25 81 M22xP1.5 12
@25 20 22 5.5 12 25 19 15 16 M10xP1.25 | 81 M24xP1.5 12
232 21 24 75 16 31 19 15 19 M14xP1.5 87 M30xP1.5 12
40 21 24 7.5 20 34 24 21 21 M16xP1.5 108 M33xP2.0 14
CHl:mm
£854 PB Rc(PT) T TL VB @FD Y FY FT FX FZ
20 8 1/8 41 138 13 7 38 21 6 51 68
@25 8 1/8 46 143 13 7 44 27 9 53 70
?32 8 1/8 53 159 13 7 50 33 9 55 72
@40 11 1/4 54 183 19 9 60 36 9 66 84

www.kccpr.com - 111



E 5,%:,% Egz <L:z[-c>]| KP35H series

ol A9 MRlL] (YR0|5 1)

2|14 S8B|A Y (CA)

. _PA_ ReP) %&
KK ‘\ i
N i L | 4 l
©
=l D ———]
A=y
(R LA Ol 3 VB VB
A lellw | w we
T L+STROKE u o83
Z+STROKE R oF
TL+STROKE
TH2l:mm
SEUE FELAHEO]| A B @D QEA W WC H KK L M PA
220 15 18 5 10 23 19 15 16 M8xP1.25 81 M22xP1.5 12
@25 20 22 55 12 25 19 15 16 M10xP1.25 81 M24xP1.5 12
?32 21 24 7.5 16 31 19 15 19 M14xP1.5 87 M30xP1.5 12
@40 21 24 7.5 20 34 24 21 21 M16xP1.5 108 M33xP20. 14
Ctelimm
EEUE PB Rc(PT) T U R YA TL VB D X (0]
220 8 1/8 41 14 13.5 136 149.5 13 10 16 30
025 8 1/8 46 15 14.5 142 156.5 13 10 16 32
?32 8 1/8 53 20 18.5 160 178.5 13 12 16 40
@40 11 1/4 54 20 225 182 204.5 19 12 24 48

- 112 www.kcepr.com



AOAAES (F)

KCC Co., Ltd.

KP35H series

o5 OO} Al or=2|lL E
".L'I%i X‘I'I'r‘r:r E%ll::i (ETulE —rrE)
HIlAC_BAD
Y| e-BEFH
1M H2200E 24HHB201E
M A Y20, Y25/32 AE: A Y40 AE: 3
Va
/1
) Wﬁ &) AP
KK _@ND
=F e #ND ey _pND _\<—>F KGUA
KK\ ]
I
] 1 T
" N ); 4 -l'\ A P g b 3 = ACP
| D
v .|
|-~ L R A\ ACD
L
L
EH2limm EH2l:mm ACS2
EH [ BEEUZ | oE | F | L KK |oND"®| NX | R | V Y |REUZF|E | F | L KK |oND"®| NX |NZ| R |V
120 | @20 |20 | 16 | 36 |M8X1.25| 9 *%%| 9 51 10 14 Y20 | @20 |18 16 36 M8X1.25 9 *%% 9 132/ 18 12| 14 ACS3
125/32 | @25,32| 20 | 18 | 38 |M10X1.25| 9 %% 9 31| 10 14 Y25/32|@25,32| 18 | 18 | 38 M10X125 9 *%%/9 132118 10 14
140 | @40 | 24 | 22 | 55 |M14Xx150[12 *%%7|16 §1 /155 20 Y40 | @40 |24 30 55 | M14x150 12 *%7 |16 13338 | 13| 25 ACSA
ZeMe e 2218 UE Ao
A A A eag ACR
KK:
« ACM
D) Sk
H ACX
T H
KLC
Ck2l:mm ct2limm
4 | 211 C oD H KK T Y | §2u3 C oD H KK T KLCS
RN-02 | @20 15.0 12.5 13 M8X1.25 5 SN-02 | @20 30 25.5 26 M20X1.5 8
RN-03 | ©25,32 | 19.6 16.5 17 M10X1.25 6 SN-03 | @25,32 | 37 31.5 32 M26X1.5 8 AF, ADF
RN-04 | @40 254 | 210 22 M14X1.50 8 SN-04 | @40 47.3 40.5 41 M32X2.0 10
AFM,
ADFM
IR =
ANG
A etz
3| 8
Mt L tL M
N
cel:mm
B |REYE| oD® | od | L | N |m t Bl
CPS02 | @20 | 93952186 Jos192] 25 (175115 *§14|  Y+CBE
CPS03 | 92532 | 9 332186 Jos 192 25 [1.75/115 *3™4|  v+CBE
PS04 | @40 |10 3%219.6 J09/302/36.2/11.85 115 "9 (CBE
Y
CPMO4| @40 (12 3382|115 214]382/44.2/1.85/1.15 Q1 (ACM40028)

www.kccpr.com

- 113



